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SM: NEEA

HH: SN2 2 (2L 22 /23H0=)

el QEZNS 2 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
-SH#H3 FAa 300,000& =23 600
-d3x A 500,000& »23! 1,000
AL UHEA Y 2,000,000& * 12 2,000
—EAE S 300,000 =23 600
OLN=1=1:] 3,360
-OFZHIIZ2 2R 24
7,000 x2& x20L 128 3,360
02 3224l 54,486 54,241 245
O1.332=2HA 41,360
-NEEEE IPIVAIER 25,000 =122 300
-HIRs 2,000,000& x12& 24,000
-H3es 50,000 «12& 600
4ot 23 150,000 128 1,800
“EAOA AEE 1,000,000 x12& 12,000
e Bk =: N=d 500,000& *13 500
SRS A2AE SR AH2E Hel
a 300,000 »23! 600
-AE3ESA2E  FSEA2ES A3
a 250,000& »23! 500
-2 oM E 3l 260,000& *13! 260
-SENERES 150, 000& 23] 300
-RER=S 250 *2,000S 500
O3. Al € ZHI = X4 13,126
-d= = Xbl 2, 7173 %2,549m 6,926
-AEAIE BE € 2+ 1,000,000& *12] 1,000
Kot dtg)] |2+ 500,000 »4CH 2,000
-2 JtA 2 HHLUE S RAEF
200,000 50 x23| 2,000
-dte etCoole 2 60,0003 *20CH 1,200
202 OdH 3,600 3,600 0
01 =LHAOYI 3,600 3,600 0
OddE A2 Ast A HIX 0+
60,0002 *x3& 42 »53] 3,600
301 LPBAZ 5,900 5,900 0
10 HAIAHIE A S 4,600 4,600 0
OXHEAS AR 2HA] 2,000 «6H 25 x 12 3,600
OSAMua FILAF 2+AL 20003 x50E x5 x23] 1,000
12 JIEt24a=s 1,300 1,300 0
OXe= JIE NS 50,000 30t = #2328 300
O=AMe g U=sA € 280st 24
30,0002 x10€ <22/ 600
OSAMU4 ZILL Algd=S 20,0008 %108 23] 400
SEAN2 NMEEHSE 129,100 140,250 A11,150
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SN
X XH .
S Tt

oLk

_ _ pSNE e
SH-EH . C(BH) - NRAY - BES Ao Gl o bRz
il 14,500
Al 114,600
207 o1t 5,800 5,200 600
02 F AN Y] 5,800 5,200 600
OFFID TAG 72 8002 %2, 0002 1,600
OS A UES(RFID) R L 1, 40024 %3,00004 4,200
401 AIEHIL2CH] 58,000 85,000 A27,000
01 Al 58,000 85,000 £27,000
OREETN AT 28 4T
25,000,002 * 14! 25,000
OZEH HA = o HolE 2N
3,000,00021 *14} 3,000
OWHeI| LSH2(HR) DHBA
5,000, 00021 #14} 5,000
OBl KX MY DA A
5,000, 00024 *14} 5,000
Ogergizra 219t0| DH ZA
10,000, 0002 * 144 0,000
OAS U= T4 I 10,000,0002! 14! 0,000
405 THAHF S 65,300 50,050 15,250
I} 14,500
Al 50,800
01 HMUSEHSH| 36,300 21,050 15,250
OZ8NE4 $=HI 7 1,500,000 =2CH 3,000
OUXEX2A C0&H0IEF 7Y
1,500, 00024 +1CH 1,500
o= 7Y 300, 000! *2CH 600
oggtgza ox 2Y 100, 0002 *2007H 20,000
Ogergizra 212t0| Hy 7Y
700,00021 %1624 11,200
02 SHTYY| 29,000 29,000 0
OREENE THTY(01Y)
10,0002 %2, 0002 20,000
I} 10,000
Al 10,000
ORQEETMZ CINEXR(FA,0V0) P (02
) 30,0002 %3005 9,000
) 4,500
Al 4,500
SASIZZIY 29 33,200 28,740 4,460
201 L2 33,200 28,740 4,460
03 A2 | 33,200 28,740 4,460
OSMBF2 L SAO & #A  2,800,0008 2,800
OSADY 29 2,900,000%! 2,900
o223 29 23,000,002 23,000
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SN
X XH .
S Tt

oLk

K- OI(EH) - MEAY - BaS s e 2
OO0ty 228 29 1,500,000& 1,500
SMILH ZAZ 3,000,000& 3,000
SN2 2Y 75,570 91,183 A 15,613
i 15,000
Al 60,570
ZoN 2E 2 28,470 23,003 5,467
101 Q1248 5,882 4,578 1,304
04 JIZtHIZ2E2NEE S 5,882 4,578 1,304
OEMNB+E & NE2Fel B2
35,290 x1H » 150 5,294
O4U2E JI28Y 5,294,000 *11.1% 588
201 LetEIH| 16,388 12,225 4,163
01 AtR22/Hl 14,638 10,225 4,413
O1.get=ZH| 14,638
-HEEZ A2 Let=ZH| 1,200,000& 1,200
“Ho|1tElE Y (2K, F2hK, L2
15,000 x20&5 122 3,600
-ENEHRARE P (EFAUEXL 58)
40,0003 x65 43| 960
-3|AIE elE2+g 100,000& *3&8+ A 300
-Rogtg)] =5 X P
2,500 50004 1,250
-HEEA FAY 99,0003 *10& 990
-5 (0 HelAZ2E(3AH0IA) 5003 «7000H 350
-SHE 2 2,500& *300H 750
“MYDIEEH SS72(1004)
2,200 2000 =123 528
-SAD 2 ZEH EY 2
250,000& »3CH*12] 750
-SAMEX 72 (AM) 21,0003 x5t A+12& 1,260
“ARES ¥ 100, 000& 43| 400
-OXESA GEAM 2 10,0003 *10I1+33] 300
-AIb AtRIE A (EHI) 2,000,000& 2,000
02 =234l 1,750 2,000 A 250
O1.2323Z Al 750
-RELS 250& *3,000& 750
O3. Al € ZHI S X4 1,000
A RRAES 1,000,000& 1,000
301 LptEasg 6,200 6,200 0
10 ALAHIE &= 4,600 4,600 0
O=SMW4 FIHA 2tA 20002 «50H 52 #23] 1,000
OX& S AR 2HAl 2,000 x6H 252 x 123 3,600
12 JIEtEA S 1,600 1,600 0
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SM: NEEA

HH: SN2 2 (2L 22 /23H0=)

&St HEEA2 23 (ctel &)
R R=C1CE Rl sk oy e 2
OSADE 2 SAS 2 ASE
30,000& x10H »23] 600
OBHOISK L USK ANE
30,0003 10 *23] 600
OHel= IIE AMAE 50,0003 4t = 23| 400
FENZ AIEES 35,000 52,000 A 17,000
w 15,000
Al 20,000
207 Aoy 7,400 7,400 0
02 ™ AN Y| 7,400 7,400 0
ORFID TAG & 800& 4,000 3,200
OEMUzEsE ¥ 1,400& =3, 00004 4,200
405 XtobE SHI 27,600 37,600 210,000
ml 15,000
Al 12,600
01 XYL SSFSHI 7,600 7,600 0
OAMI=Y 1,900, 000& *4H 7,600
02 S| 20,000 30,000 210,000
O M7 (01) 10,000& *2,000A 20,000
i 15,000
Al 5,000
SN2 Ez Y 29 12,100 16, 180 A4,080
201 et 12,100 16,180 24,080
03 EAH2ZHI 12,100 16, 180 24,080
OEM2=x=2t L =SH9 A 1,300,000 1,300
OS M4 At 1,800,000& 1,800
O0eoltha T2 2,000,000& 2,000
Ot H 7,000,000& 7,000
SHEMZ 29 156,052 137,855 18,197
w 14,500
Al 141,552
SN 2922 58,722 79,065 220,343
101 el 5,882 10,301 A4,419
04 JIZtHIZ2E2HEES 5,882 10,301 A4,419
OUXNEZA 24902l
35,2903 x1H+150 5,294
O4EE JI1A22E3 5,294,000& *11.1% 588
201 LByl 45,480 62, 124 £16,644
01 AtR 22/t 19,757 38,751 218,994
O1.g8t=ZH| 17,237
“EOItRE P (2, 2, L2HN)
15,0003 155+ 128 2,700
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SM: NEEAR
M SN2 2H(2s2Z/2st0s)
el SHEA2 2 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
—EHREA 2Y 99,000& *52 495
-SHE 2 2,500 10074 250
“ENECIEE(2FHEX L 5F)
40,0002 65 *22] 480
-2/ 22 100,000 =39} A 300
-HAES X AL ESH 7Y
150,000& =122 1,800
-StEX 7Y 30,0003 58t A% 12F 1,800
-MEYDIESEM SE2L(1004)
2,2003 4004 x12& 1,056
-MNEES 728 100,000& 33! 300
-SAD ¥ ZEY EHFY
250,000 »3CH 23] 1,500
-SAEX 2 21,0002 #32t A+ 123 756
-l & NItAIRIE ¥ 50,000& =104 500
“HAES 300,000& =23 600
=83 A 300,000& »23! 600
SN ENP= 500,000 *12] 500
-ReFHIEY =2 200,000& =128 2,400
“MI|HM 2 A 2 100,000& «12& 1,200
Ob5. 8 &l 2,520
—OF2HTHOI 22 A 24
7,000 x3E 102 128 2,520
02 323l 25,723 23,373 2,350
O1.332=2HA 22,670
—&ol28 500,000 *12] 500
-HIIRes 1,300,000 x12& 15,600
-HERs 30,000& <122 360
-aiot=E AFEE 150,000& =12 1,800
-d==J| 2| 50,000& x12& 600
-sdJ| AEFE =2 150,000& =12 1,800
-RERS 2502 *1,0000H 250
-SIMERES € JIEISER=
400,000& * 12 400
-2 oHME 3l 260,000 *13] 260
St A2E { =SS A2E
300,000& »23! 600
-SST A28 ¥ dSSSA2EI]
250,000& =23 500
O3. Al € #HI= X4 3,053
-AgAE BE E B+ 700,000& =13 700
-] JtA o B
1,000,000& *13] 1,000
-A =Rl 1,118&+1,210m 1,353
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FAANEE

- = T

M SN2 2H(2s2Z/2st0s)
= c
=] —

oLk

_ _ HE T
SA - SR(E) - HRAY - BES 0 & 24 i HIRE
202 01| 2,160 1,440 720
01 2U0tbl 2,160 1,440 720
OMTET M A8t 2 #Ix 0t
60,0002 x3% +3 +43| 2,160
301 LerE Az 5,200 5,200 0
10 BAAHIZA S 4,000 4,000 0
OSHEM KHRASAR 2+4
2,0009 +52x252 + 122 3,000
OSMHmA EIIX 2+Al 2,0008 %502 «52 23| 1,000
12 JIEtR A3 1,200 1,200 0
OZHOISR L THSXH AIAE
30,0008! 102 +25] 600
OSHDA L SAO & ANE
30,0008 102 +25] 600
SHEND Alsss 88,230 55,500 32,730
inl 14,500
Al 73,730
207 S RIHYl 17,900 4,800 13,100
02 & AHEH| 17,900 4,800 13,100
ORFID TAG 72 8002 *2,0002 1,600
OEMNUES(RFID) 7Y 1,4002 %2, 0000 2,800
OUXE X2A ATEN 25
13,500,000} 13,500
401 NEHIL 2] 25,000 13,000 12,000
01 Al&Hl 25,000 13,000 12,000
OUXEREA 2E ZA 15,000,0008 14! 15,000
ONR +Z&SAALY HXBA
10,000,000} *14! 10,000
405 XtokE S| 45,330 37,700 7,630
inl 14,500
Al 30,830
01 RAUSEF S 16,330 8,700 7,630
OUXIEREA DWDSR0IE B2Y Y
1,500, 00021 * 1CH 1,500
OUXgREA AIIPY 14,830
-PC 1,350,0002! 8Lk 10,800
-2rat0] = At 360,000 *8LH 2,880
oI Xt 100,000 8CH 800
~ZRIE D) 350,000 * 1CH 350
02 AR 29,000 29,000 0
OSHENZ THTA(01Y)
10,0002 *2,0002 20,000
il 10,000
Al 10,000
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SM: NEEAR
M SN2 2H(2s2Z/2st0s)
el SHEA2 2 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
OsHeM2 OXNEXSZ (EXHE,0VD) 72 (0l
&) 30,0002 *3005 9,000
il 4,500
Al 4,500
SEN2HEZIYH 2H 9,100 3,290 5,810
201 LEt=EH| 9,100 3,290 5,810
03 A2 HI 9,100 3,290 5,810
Oz Natx:2t & =M & HAF 1,700,000 1,700
O=sMud =24 2,400,000& 2,400
o= 2848 5,000,000& 5,000
HE2HZHI (MBS M) (OIEH/DIE) 328,787 311,601 17,186
HEHH(ANBEA2 250, 159 232,973 17,186
AgoH 2| 174,661 157,955 16,706
101 1A H] 174,661 157,955 16,706
02 JIetX 2= 174,661 157,955 16,706
O™EEA('T'=) 43,194
-8 32,647,000& «1& 32,647
“AN2ZeZ2ReE 7,457 1B 47 A 2t 123 4,206
-JtEsE 960
bH < Xt 40,0003 «12 122 480
* IS 20,0003 x2H 128 480
-Ag 2 x| 155,000& »1E x12& 1,860
-Hergssl 50,000 x1H*12& 600
=L r= gl 130,000 12 =122 1,560
-AJE &I 32,647,000& +15/360 1,361
(OF=RaR=E=s 131,467
-5 1,833,900& »3E x12& 66,021
g2+ 66,021,000& *1/12%100% 5,502
-da2sgma 3,240
25E 0l & 130,000 « 12 =128 1,560
158~20 0] 2t 80,0003 «1& 128 960
10&=~15E 012+ 60,000 x1H*12& 720
-A2HRI2RE 6,342 x3E x50A| 2tx 122 11,416
-5L2fsdE 47, 7753 «3H 4L« 128 6,880
-tESE 2,880
bH < Xt 40,0003 «3% =128 1,440
JIERIE 20,0003~ »12& 1,440
-AHASHHIE XS (SEH)
51,9902 x1& 43 208
-ZEUTE () 30,0003 «1Z~12& 360
-Ag2X| 105,000& 38« 12& 3,780
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SA: 2
=R AAHI (AR EMZ)(OIEHIIE
SEE AU (A E A2
_ _ _ N E
ZE - CR(31) - HIRAY - S Aboy e
-CHeI B =) 50,0002 *32 128 1,800
-3 o Z A 130,0002! +3% * 128 4,680
-nE2 x| 120, 0008 *3% * 128 4,320
-E-EPIL] 66,021,000 *1/12+60%+23] 6,603
“DIHXISEl 66,021,0008%1/12%16. 7%« 122 11,026
~010h2 At H| 66,021,0008! *15/360 2,751
S Aol e 75,498 75,018
101 @I 24H| 75,498 75,018
03 RIHAZZRE S 75,498 75,018
OFAtZr2Iel R 75,498
-1e3 29,0109 *4Z*313L 36,321
-4012 9,081,000 *4% 1/ 12+300% 9,081
-2 E £t 9,081,0009 +42 *1/12%120% 3,633
-DER x| 30,0002 *42 128 1,440
-Jb 2 & bl 50,0009 *4% + 12 2,400
tESg 1,200
B < Xt 40,0002 %22 122 960
" JIEDS 20,0008 1+ 122 240
-E U Z ALY 80,0002 *42 128 3,840
—2EIHAE 29,0102 x4 +52 « 122 +50% 3,482
1Rt 29,0102 %42 x20 2,321
—=Eay 29,0102 *42 x50 6,035
SN 2RAY 5,440 54H 5224 2+ 122 5,745
A8 S Al 2H) 78,628 78,628 0
bl 11,068 11,068 0
Usre | 11,068 11,068 0
Rl 10,300 10,300 0
ORASY AptsgH| 3,700,000% 3,700
ORN2Y Ha22E| 3,100,000% 3,100
oAy 3,500,000% 3,500
02 ZZ2H| 768 768
ORANEY BB 768,0002 768
o @ XX OfH| 63,360 63,360
202 014 63,360 63,360
LK 01| 63,360 63,360
FQALEXOH 20,0008 x4 112122 63,360
bl 4,200 4,200
203 PREXY| 4,200 4,200
Aeggezayl 4,200 4,200
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SN NRENR
HE: #H2SAY (MBS HR)(IEHIIE
Sl JIZYHI (AP EA D)

SN CR(EH) - NRAY - BES el

[
2

ORANSYYLEXHI (B :20%)

350,000& 128 4,200
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